

Meyer & Associates, Inc. **Consulting Engineers**

Vernon F. Meyer, P.E. President

Richard T. Meyer, P.E. Vice President

May 10, 2023

Mr. Bryan McReynolds, Administrator Beauregard Parish Police Jury 201 W. 2nd Street DeRidder, LA 70634

Re:

Greentown Road Improvements

Award Recommendation

M.A. Project No. B6-22030-DA

Dear Mr. McReynolds:

In regard to the captioned project, we would like to offer the following Bid Evaluation and Award Recommendation concerning the bids received on May 10, 2023.

BID SUMMARY AND EVALUATION

The following is a summary of the five (5) bids received:

Bidder	Total Base Bid			
Apeck Construction, LLC	\$469,392.32			
HD Truck & Tractor, LLC	\$527,730.00			
R.C. Paving, Inc.	\$555,548.00			
T.L. Construction, LLC	\$655,510.00			
McManus Construction, LLC	\$688,885.00			
Engineer's Estimate	\$470,000.00			

An itemized bid tabulation is attached for your review.

A review of the bid summary reveals that the lowest responsible bidder was Apeck Construction, LLC with a Total Base Bid of \$469,392.32. It is our opinion that this amount provides a competitive and reasonable cost for performing the work called for in the plans and specifications.





Mr. Bryan McReynolds, Administrator May 10, 2023 Page 2

AWARD RECOMMENDATION

Meyer & Associates, Inc. recommends award of this construction contract to Apeck Construction, LLC in the amount of their Total Base Bid of \$469,392.32 contingent upon Facility Planning and Control's concurrence of award and receipt of the 10 Day Forms. Upon your concurrence with this award, the Notice of Award and Construction Contracts will be forthcoming under separate cover.

We trust our recommendation meets with your approval; and should you have any questions concerning same, please advise.

Sincerely,

Andrew T. Mattingly, P.E.

Enclosure

Cc: Mrs. Tina Trahan, M.A. w/att

Mrs. LeAnna LaVergne, M.A. w/att.

Bid Tabulation Greentown Road Improvements Beauregard Parish Police Jury M.A. Project No. B6-22030-DA

BID DATE: May 10, 2023

BID TIME: 10:00 A.M. (Central Daylight Savings Time)

CONTRACTOR	TOTAL BASE BID
Apeck Construction, LLC	\$469,392.32
HD Truck & Tractor, LLC	\$527,730.00
R.C. Paving, Inc.	\$555,548.00
T.L. Construction, LLC	\$655,510.00
McManus Construction, LLC	\$688,885.00
ENGINEER'S ESTIMATE	\$470,000.00

I hereby state that to the best of my knowledge and belief this is a true and correct tabulation of the bids received for the project described herein.

Andrew T. Mattingly, P.E.



Bid Tabulation Greentown Road Improvements Beauregard Parish Police Jury M.A. Project No. B6-22030-DA

> Apeck Construction, LLC P.O. Box 640 Anacoco, LA 71403 LA Contractor Lic. No. 27239

HD Truck & Tractor, LLC 5501 Opelousas Street Lake Charles, LA 70615 LA Contractor Lic. No. 39155 R.C. Paving, Inc. 320 Ampacet Drive DeRidder, LA 70634 LA Contractor Lic. No. 36285

REF NO.	QNTY	UNIT	DESCRIPTION	UNIT PRICE	UNIT PRICE EXTENSION	UNIT PRICE	UNIT PRICE EXTENSION	UNIT PRICE	UNIT PRICE EXTENSION
202-02-32100	80	LF	Removal of Pipe (Storm Drain)	\$34.12	\$2,729.60	\$65.00	\$5,200.00	\$71.50	\$5,720.00
203-07-00200	100	CY	Borrow (Vehicular Measurement) (Pre-Treated Lime Fill) (4% by Volume)	\$66.21	\$6,621.00	\$65.00	\$6,500.00	\$71.50	\$7,150.00
206-01-00100	1	LS	Storm Water Pollution Prevention Plan	\$4,209.52	\$4,209.52	\$1,850.00	\$1,850.00	\$1,980.00	\$1,980.00
303-03-00400	14,500	SY	In-Place Cement Treated Base Course (12" Thick) (5% by volume)	\$10.97	\$159,065.00	\$13.60	\$197,200.00	\$14.28	\$207,060.00
502-01-00100	1,700	Ton	Asphalt Concrete	\$158.14	\$268,838.00	\$144.00	\$244,800.00	\$153.00	\$260,100.00
701-02-00990	72	LF	Cross Drain Pipe Arch (18" Equiv. RCPA)	\$132.55	\$9,543.60	\$200.00	\$14,400.00	\$220.00	\$15,840.00
701-02-01000	32	LF	Cross Drain Pipe Arch (24" Equiv. RCPA)	\$162.80	\$5,209.60	\$215.00	\$6,880.00	\$236.50	\$7,568.00
713-01-00100	1	LS	Temporary Signs and Barricades	\$1,202.72	\$1,202.72	\$4,000.00	\$4,000.00	\$6,500.00	\$6,500.00
726-01-00100	20	CY	Bedding Material	\$149.14	\$2,982.80	\$200.00	\$4,000.00	\$220.00	\$4,400.00
727-01-00100	1	LS	Mobilization	\$6,806.02	\$6,806.02	\$35,000.00	\$35,000.00	\$31,530.00	\$31,530.00
740-01-00100	1	LS	Construction Layout	\$2,184.46	\$2,184.46	\$7,900.00	\$7,900.00	\$7,700.00	\$7,700.00
			TOTAL BASE BID		\$469,392.32		\$527,730.00		\$555,548.00

C:\Users\\corbello\Documents\Book1

Bid Tabulation Greentown Road Improvements Beauregard Parish Police Jury M.A. Project No. B6-22030-DA

> T.L. Construction, LLC 114 Columns Drive Alexandria, LA 71303 LA Contractor Lic. No. 35849

> > 3

McManus Construction, LLC 4126 Hwy 3059 Lake Charles, LA 70615 LA Contractor Lic. No. 14648

REF NO.	QNTY	UNIT	DESCRIPTION	UNIT PRICE	UNIT PRICE EXTENSION	UNIT PRICE	UNIT PRICE EXTENSION
202-02-32100	80	LF	Removal of Pipe (Storm Drain)	\$185.00	\$14,800.00	\$30.00	\$2,400.00
203-07-00200	100	CY	Borrow (Vehicular Measurement) (Pre-Treated Lime Fill) (4% by Volume)	\$81.00	\$8,100.00	\$40.00	\$4,000.00
206-01-00100	1	LS	Storm Water Pollution Prevention Plan	\$3,500.00	\$3,500.00	\$15,000.00	\$15,000.00
303-03-00400	14,500	SY	In-Place Cement Treated Base Course (12" Thick) (5% by volume)	\$18.50	\$268,250.00	\$25.00	\$362,500.00
502-01-00100	1,700	Ton	Asphalt Concrete	\$160.00	\$272,000.00	\$144.00	\$244,800.00
701-02-00990	72	LF	Cross Drain Pipe Arch (18" Equiv. RCPA)	\$200.00	\$14,400.00	\$130.00	\$9,360.00
701-02-01000	32	LF	Cross Drain Pipe Arch (24" Equiv. RCPA)	\$280.00	\$8,960.00	\$150.00	\$4,800.00
713-01-00100	1	LS	Temporary Signs and Barricades	\$15,000.00	\$15,000.00	\$10,000.00	\$10,000.00
726-01-00100	20	CY	Bedding Material	\$225.00	\$4,500.00	\$160.00	\$3,200.00
727-01-00100	1	LS	Mobilization	\$40,000.00	\$40,000.00	\$22,825.00	\$22,825.00
740-01-00100	1	LS	Construction Layout	\$6,000.00	\$6,000.00	\$10,000.00	\$10,000.00
			TOTAL BASE BID		\$655,510.00		\$688,885.00

C:\Users\\corbello\Documents\Book1